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No.

3-3. AUEHRIEEXLT

1. JRIED

V =1.22X4.12+1.22,/2X1.60,/2X2

2. HREL

V =0.68%X4.12+0.68,72X1.10,/2X2

3. FEmEEIE

A =1.20X4.12

300

P

405
#HEL 0.68 o
R i
\ _
o A5 s
S REIKKY N ==
— SV A
~— (A\\\\\\\\ \\ ‘\ \
ORRRLXLX AN\
MNXY 777 —
\ » \
o 1 \
S X v 1100
\ / \ A

6.00 m

3.18 m

4.94 n*




No.

3-4. AUBEIRAET
. L= 27 U—k (18-8-40, t=10cm)
it
A =1.200X4.120
ST
V = 4.944X0. 100
2. ¥ U AR HiFE

A = (1.200+4. 120) X2X0. 100

3. a7 U — MERE (MoktT)
(1) 7=Ch# (24-12-25)
v1=0.468 X 1. 100X 3. 920

v2=-1/2X0.800X0. 016 X 3. 920

(2) Ty~ (24-8-25)

N7y T T FE

al=0.510%0. 300+ 1/2X (0. 400-+0. 422) X 1. 500

a2= 1/2x (0. 42240. 400) X 1. 500+0. 620X 0. 400

N ATy N T A

al=0.510X0.300+1/2X (0. 400-+0. 422) X 1. 500

a2= 1/2x (0. 422+0. 400) X 1. 500+ 0. 620 X 0. 400

g Al A2
V2= 1/2X (1. 635+ 1. 635) X 0. 300

(3) S TL=ar 2V — MEESGET

(24-8-25) XZV=V1-+V2

. 944

. 494

. 064

.018

. 025

V1

. 993

L7770

. 865

Al

. 635

L7170

. 865

A2

. 635

. 491

. 484




No.

4, a7 U — MRS (#hE 1)

(1) AL (24-12-25)

_#ITsa s )—+

1100

300 800

t=110 (fpfEEER)

o5/

(P8 LAD

#EIazrs)—+F

400,

978

468__510

2. 0%

o
—_
=t

f—

452 | 522

974

100

100

B U Igie

al=1/2X (0. 400-+0. 412) X 0. 800

V1= 0.325X0. 300

(2) L=y 7V — MEEGS

(24-8-25) XV=V1

0.325 mw

0.098 m’

0.098 mw’




No.

5. MIPkfE Yokt T)

(1) 7=TChe

7o CRERITH
al=0.452X3.920
o CREL
a2= 0. 468 X 3. 920
o CREAAE
a3= 0.468X0.300+1/2X% (0. 468+0. 452) X 0. 800
o CHEL A
ad= 0. 468X 0. 300+1/2X (0. 468+0. 452) X 0. 800

(2) T~y b

NG T i T
al=0.510%0. 300+ 1/2X (0. 400-+0. 422) X 1. 500

a2=1/2x (0. 42240. 400) X 1. 500+0. 620X 0. 400
NNy b T T FE
a3= 0.510%0. 300+ 1/2X (0. 400+0. 422) X 1. 500

ad=1/2x (0. 422+0. 400) X 1. 500-+0. 620X 0. 400
NIy MR

ab=0.300X0.510+0. 300X0.110
NIy M

ab= 0. 300X 0. 400

(3) Sk TAUM A G Et

YA=A1+A2

L7T2

. 835

. 508

. 508

Al

. 623

.770

. 865

L1770

. 865

. 186

. 120

A2

. 576

. 199




No.

6. MUMEmAE (Bt 1)

(1) &L

_#iTbavs

1100

—=Fr 300, 800

t=110 ({pHELEERR)

#ETa 21—k

(HRELE)

978

400
1

¥4

Wg
N\

468 __510

TP

o
—_
-T

452 | 529

974

100

PRl i i

al=1/2X(0.400+0.
ST A

a2=1/2X (0. 400+0.
ZE A

ad= 0. 412 X0. 300

412) X 0. 800

412) X 0. 800

100

0. 325

0.325

0.124

Al

0.774

0. 774




Mo R BN | B A F
D13 kg | 30 30

D16 | kg | 182 182

D19 | kg 0 0

D16~D25| D22 | kg 0 0

D25 | kg 0 0

SD345 z kg | 182 182
D29 | kg 0 0

D29~D32| D32 | kg 0 0

3 kg 0 0

D35 kg - -

D38 kg - -

a & kg | 212 212




No.

3-5. Al

(VAN
=]

2 ERLER T

HEEY)FENE InLA T

T

JEX  0.600 m

e}

A =0.755X4.370

(LN

V =3.299X0.600

0.730 ~ 0.780 m —
BAT 4.120 ~ 4.620 m —

TG
TG

0.755 m
4.370 m

EeAt (B A2 FREA © — RS A & 150ke/n’)
3.299 X 0. 600X 0. 150 (t/m%)

I\ =
L B
R

100m™ X4 » & 0.297,73.299 X 100

AlBE

2-2 (ERLERETE)

351
1300,

ne

200

10. 140

1000

79,140

v 8,540

1-1 (135~ ATHE)

7
120 .
300 320 300)
3000 320)
1600 - 1500
1,54 £ T8 LENEL
DL=10.00 e S R S B 10.118
g
LEVEL 2 @
A -
- I RT
NN
w850
4120 50
4620
2
7]
320
E
_kEN
g
MR L
b .
o 8 lﬁﬂ’ )
El =
g \ \ g
= 3
b
srmms

3.299 m’

1.979 m’

0.297 t

9.003 t
(7 Z+0. 04)
9.043 t




No.

3-6. AUGEEILET

1) Ash v % —

L= @FXmL») = 2.0
2) AsHi:

A= EGEHHmED) = 15.9

3) &A% (RM-30 t=15cm)

A= GEXmLED) = 14. 4

4) XK (HAERRIEAs t=5cm)

A= EEHHmED) = 14. 4

b) BOEMILE (7 A7 7V k)

V =15.9X0. 05 = 0. 80

3-7. AIfEEEUEL T

Mo 7Y — bk

V = (0. 450X0. 450+0. 150X 0. 900) X 3. 300 = 1.11

150
(ERED) [

0

900

450

450

600

PARIERE  L=3300mm




No.

3-8. A2KEAEELERTR

THERXS - BT
AR EX Sy (EHEE
&) = X4y SmAif
IR XSy 5om’ LA B
T 7& Bl | O ¥ o= X 4 HAL A2BEHE 5 2=
KR 1 m3 42.5
fERLT | 8 R L 1R o 13.1
AL IR n? 9.5
PILa=h 1 g 840 | t=10cm n’ 9.5
¥y LR n? 1.8
24-12-25 | HRfk ST | m’ 4.9
F7 V=M og-19-95 | gL #hT | o 0.2
f&a L ot m’ 5.1
X - 2
BEERAE T G S T m 14.6
N AR L BT | o 1.6
B m’ 16.2
D13 SD345 | —mekE kg 59
g gy |D16~D25 | smeas | ik kg 357
D29~D32 | sp3as | prmsm kg 0
it ke 416
A=Y Hh N 2
R P e P L -
HyE i HaEl ombl T w’ 17. 4 V=02, Tm’®
iz _ _ 2
ST | o RM-30 | t=15cm m 47.3
£ B | mameres|  t=5en n’ 47.3
R E T e n® 2.0
WERE LT RO 700001 | =sem m 2.6
G T SRR | vk | t=sem n? 52. 2
TR TE AR AL Rl 3
AL T I ay))=h m 2.0
ORI | 7701 o 2.6
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No.

3-9. MMERIEEXLT

1. JRIED

V =4.70X7.90+4.70,2X2.30,/2X2

2. HREL

V =1.55X7.90+1.55,72X1.10,/2X2

3. FEmEEIE

A =1.20X7.90

300
2D
405
BREL 1.55 m
As
8
AY \\\\ ©
AN /S
,\‘ X /\
%D / o
NX / &

42.54 mw

13.10 m’

9.48 m’




No.

3-10. A2EEHNIA T
. L= 27 U—k (18-8-40, t=10cm)
it
A =1.200X7.900
ST
V =9.480X0. 100
2. ¥ U AR HiFE

A = (1.200+7.900) X2X0. 100

3. a7 U — MERE (MoktT)
(1) 7=Ch# (24-12-25)
v1=0.472X1.100X7. 700

v2=-1/2X0.800X0.016X7. 700

(2) Ty~ (24-8-25)

N7y T T FE

al=0.396 X 2. 350+1/2X (0. 396-+0. 418) X 1. 500

a2=1/2x (0. 41840. 396) X 1. 500+0. 396 X 2. 350

N ATy N T A

al=0.396X2.350+1/2X (0.396-+0. 418) X 1. 500

a2=1/2x (0. 418+0. 396) X 1. 500+0. 396 X 2. 350

g Al A2

V2= 1/2X (3.082-+3.082) X0. 300

(3) S TL=ar 2V — MEESGET

(24-8-25) XZV=V1-+V2

. 480

. 948

. 820

. 998

. 049

V1

. 949

. 541

. 541

Al

. 082

. 541

. 541

A2

. 082

. 925

. 874




No.

4, a7 U — MRS (#hE 1)

(1) AL (24-12-25)

1100

800 300 #ITHa 2 Y—+
t=110 (EHgLER)
#EIaL2)—F
(&8 L&D
M. 5%
) — R =
458 N\ 28,
7= 2. 0% o 7
=t =
8 . 8

2508 LI i
al= 1/2% (0.396+0. 416) X 0. 800 = 0.325
V1= 0. 325X0. 300X 2 = 0.195

Q) #BiETa> 7 U — NMEEEE

(24-8-25) X V=Vl = 0.195 w’




No.

5. MIPkfE Yokt T)

(1) 7=TChe

7o CRERITH
al=0.456X7.700
o CREL
a2=0.472X7.700
o CREAAE
a3= 0.472X0.300+1/2X% (0. 472-+0. 456) X 0. 800
o CHEL A
ad= 0. 472X0.300+1/2X (0. 472+0. 456) X 0. 800

(2) T~y b

NG T i T
al= 0. 396 X 2. 350+1/2X (0. 396-+0. 418) X 1. 500

a2=1/2x (0. 41840. 396) X 1. 500+0. 396 X 2. 350
NNy b T T FE
a3= 0. 396 X 2. 350+ 1/2 X (0. 396+0. 418) X 1. 500

ad= 1/2x (0. 418+0. 396) X 1. 500+0. 396 X 2. 350
NIy MR

ab= 0. 300 X 0. 396
NIy M

ab= 0. 300 X 0. 396

(3) Sk TAUM A G Et

YA=A1+A2

.511

. 634

.513

.513

Al

171

. 541

. 541

. 541

. 541

. 119

. 119

A2

14.

. 402

573




No.

6. MUMEmAE (Bt 1)

(1) &L

1100

800 300 #HaD—
t=110 (EfiEEEER)
g
( &
[} '5% -]
i
[l B e
< 2. 0% o
PR i A
al=1/2x(0.39640. 416) X0. 800X 2 = 0. 650
Sl i £
a2= 1/2x (0. 39640. 416) X 0. 800X 2 = 0. 650
FE A
a3= 0.416X0. 300X 2 = 0. 250

Al = 1. 550

XA=A1 = 1. 550




Mo R BN | B A F
D13 kg | 59 59

D16 | kg | 357 357

D19 | kg 0 0

D16~D25| D22 | kg 0 0

D25 | kg 0 0

SD345 z kg | 357 357
D29 | kg 0 0

D29~D32| D32 | kg 0 0

3 kg 0 0

D35 kg - -

D38 kg - -

a & kg | 416 416




No.

3-11. A2MBE L EAE T

KSR In2 2 ombL T

JEX 1.300 m
e 1.990 ~ 2.110 m — EHIE 2.050 m
BAT 7.900 ~ 9.100 m — EHiE 8.500 m

[
A =2.050X8.500 = 17.425 w’
LN
V = 17. 425X 1. 300 = 22.653
EALE (B A > FREACE © —f&EkEs 1 B & 130kg/m’)
WER 17. 425X 1. 300 X0. 130 (t/m%) = 2,945 t
100m*X4 » & 2.945,717. 425X 100 = 16.901 t
(2 A Z+0. 04)
16.941 t
MBS
1-1 (N5 ~<w FFTE) 2-2 (ERRLMRETE)
7
o o o e
P . s Tohs | wem. L oo
T LEVEL 31 f = :
/’J 9100 1

<§
\

w1800 |

600

\
=

b g | | [ 5o
g HIE:
- g }—w—————lt@————m—‘ 57)
o | amesn
ﬁ _ BN
= 9100




No.

3-12. A2fEHEHIE T

1) Ash v H—

L = (BEHRIE L)

2) AsfitZ

A= EGEHm &)

3) &A% (RM-30 t=15cm)

A= BFREELY)

4) XK (HAERRIEAs t=5cm)

A= EGEHXm £ )

b) BOEMILE (7 A7 7V k)

V =52.2X0.05

3-13. A2fBEHREUEL T

Mo 7Y — bk

50

(=)

V = (0. 450X0. 450+0. 150X 0. 900) X 5. 850

(BERAD

SL 450
<

900

600

WRIASER:  L=5850mm

2.6 m

= 52.2 mw

= 47.3 m®

47.3

= 2.61 m’

1.97 n’




S4. e -

4-1.
4-2.
4-3.

4-4.

DAl e
R T
FR [ 60 T

HEEY R T

e LR

5]

R




- H#oE L &K G R
T. il il A1 B B 7 R VEl== a8 g 2
T Hi Hl m’ 12.8 0.6 13. 4
4T %+ i 1) W<2.5m m’ 0.5 0.0 0.5
FNET 1.3 0.0 1.3 EENET
ERTIEEY A BRI (% 158) m’ 1.6 0.0 1.6 s
2.9 0.0 2.9 at
. H?iﬁb + w m’ 4.9 2.4 7.3
HER L Im=W<4m m’ 1.7 0.6 2.3
LR T 4. 970 5. 490 10.460 | ¥ Lavs)-b b=620
FEAE T e BIEIR- Y H=300 , B=520 m 2. 040 0. 000 2.040 | ¥y Lavy)-b b=720
7.010 5. 490 12. 500 it
VAR VARDY L 1:0.4 #Ez35cm m’ 19. 450 11.473 30. 923
4.2179 2.524 6. 803 JiAa 7Y —=b
HRGA « iA1=} 18-8-40 m 1. 946 1.148 3. 094 HjAay)) -}
6. 225 3.672 9. 897 it
=17y T | A - BEAR (W) RC-40 m’ 7.732 4. 738 12. 470
@) =N7"ny ) %8) H HibRK TEH A E AR t=10 m’ 0.905 0.716 1. 621
B L 2. 100 0. 000 2. 100 t=100, b=862
S )} 182810 . 3.920 0. 000 3.920 | t=130, b=140~192
0. 000 5. 950 5.950 [t=100~165, b=80~
6. 020 5. 950 11.970 B
EEMREY L R ) =) 18-8-40 m’ 0. 843 0. 000 0. 843
KET U7 2=k 250 m 0.0 7.9 7.9 HEHEIA
IRUEVZIR 18-8-40 m 0.0 7.9 7.9
R [E o T MHlGs L HEEZAR 18-8-40 m 0. 497 0. 549 1. 046
ARG L £ % 35cm m 15.815 10. 715 26. 530
HEmmET | #EmEUEL T HER I L A ) =) m’ 0. 994 2.725 3.719
KB B RE L AT ) =) m’ 0. 000 0. 360 0. 360




4-1. I
1. 4 H T*
JEHI (C©) 24
A BEOEE | W o\ | PRk &= | W o | CEEmE w| O
() (') () () (") ()
1 -1 TR 1.5
1-1 0.3 1.5 1.50 0.5
&2 T v i 2.1 1.6 1.55 3.3
1.6
& 92 it 3.9 1.6 1. 60 6.2
1.4
2 - 27 Tyl 1.0 1.4 1. 40 1.4
2 -2 1.6 0.4 0. 90 1.4
& % 8.9 12.8
fRHl (O A+
il BEOEE | W om | PRk &= | Wrom | RS | M OB
() () () () () ()
T 0.0
+0.5 0.5 0.0 0. 00 0.0
0.1
M1 T 5.5 0.1 0. 10 0.6
& i 6.0 0.6




2. % + T
At (B:W<2.5m) Ef
=Y HOBE | W om | CPEWlm| & & W om | CESWmE B =
() (') () () (") ()
1 -1 TR 0.1
1-1 0.3 0.1 0. 10 0.0
&2 T v i 2.1 0.1 0.10 0.2
& 92 it 3.9 0.0 0. 00 0.0
0.1
2 - 27 Tyl 1.0 0.1 0.10 0.1
2 -2 1.6 0.1 0. 10 0.2
s 2 8.9 0.5
i PEOBEE | W om | CPEWbm| & & W om | CESWmE | M =
() () () () () ()

5]}

S
I




3. E¥LT GEFHEMT)

KiEY () A7 HEL R) £
A EOBE | W om | PPk &= W om | CEkm | = & | =
() (') () () (") ()
1 -1 Fik 1.2 0.9
1-1 0.3 1.2 1.20 0.4 0.9 0. 90 0.3
&2 T v i 2.1 1.2 1.20 2.5 0.4 0. 65 1.4
0.4 0.0
& 92 it 3.9 0.4 0. 40 1.6 0.0 0. 00 0.0
0.4 0.0 0. 00 0.0
2 -2 Tl 1.0 0.4 0. 40 0.4 0.0 0. 00 0.0
2 -2 1.6 0.0
il 8.9 4.9 1.7
Kigy (B) £ HEL R fHkE
R BEOEE | W om | PRk = W om | ESWE ) B = | O
() () () () () ()
T 0.4 0.0
+0.5 0.5 0.4 0. 40 0.2 0.0 0. 00 0.0
0.4 0.1
M1 T 5.5 0.4 0. 40 2.2 0.1 0. 10 0.6
& i 6.0 2.4 0.6




4. ¥EmE L

wRWNiEmE AR

sESMEE R

A O [ R EHRS | m M| E K (PRSI @ M| WM OE
(m) (m) (m?) (m) (m) (m?)
1 -1 Tk 0.5
1 -1 0.3 0.5 0. 50 0.2
R 2 T it 2.1 0.5 0. 50 1.1
&2 i
0.6
2 -2 il 1.0 0.6 0. 60 0.6
2 -2 1.6 0.6 0. 60 1.0
& F 5.0 1.3 1.6
Hl A O B R EHES Bl B PWES @ M| fM =
(m) (m) (m?) (m) (m) (m?)
& F 0.0 0.0 0.0




5. L TARHL

M| s ) 1| B i

8 = M
e H |
8000
7960 1
#HwHEa o U—+ N3 C
\ (t=300) o .
AN o
| m2
=
| 8
\ - = 0.6 m2
—\e 8
§ ! N\ W\ R=05m 8§
[ T | P ~
| | { S B /
| | i = 2
Il ~
R | i 1 [=
s ] ||} ]| -
e sl 3|
L] B e 8 g
ﬁ 75_] — 52 “““‘ “w‘w‘ \l’l R=0.4m2
2 H=10. 05m H=10_06m ||
o3| dep=1. 50m o dep=2.50m = 1| E
™ g s - < gl o s gl 8l I le
S g 88 B = : = SIS > DL=5.00
H g = - 38 5 S /8
pls 3 Py c @ s - o] =
) S s = = S &
o =3 g
) 3 S
s . -
% [=1
A S
s 2
8
HP ¢ 150
3|
i (
B=0.1 S a—
(@t UE )
@7 B T - . _
s
3
. avyl)
S A=0.
> . -
8
C=14m 3
S
S
E=0.4m2 =0.4 m2
DL=5. 00
. ~
EERAPDRE
L $
/’\/o_l /\W\
%0 X
300) i} =3 8000 300
2 Liid =3 7960 20
405 xXME 7150 405,
GH=10.16 _
4777 ——————— |
S— 0. 50% _ o e S R
— T B
= [ P
8 — 8
= KBRS+ & (£=400) ; =
A=09m la |
8 = NN
i A
& g I\
REQIE = = REMEL
8
=1 ~
7 — 5/
AL =l ~
2\ i 2400 ~&
EATS -
oo - - R = 0-6dm2 s
< L =
! C=0.1m2
E=04m a o U—rEIRL E=04m avyY—rEREL
A=0.2m2 A =0.5m2

DL = 5.000 DL=5. 00




4-2. EE#S T

H B RE T MR L E
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